Ex

3 MAIN CONTACT PINS

EQUISPACED PCD 95.0 +0.4 0.0 +2.00

19.00 7700 € AT BOLT HOLES )
8 HOLES @ 11 40.27 0.0 A~
EQUISPACED PCD 225.2 +0.4 -0
L]
// —— \

)

o=

O

Ex

EEP
15 DEEP 6H
ECTION

i

o N7

246

o
(=3
o

o "€

O—¢
%)
\\<
o
©
©
©

©O— B U 1100 *2:00_| L 6 HOLES DRILLED THRU REFER SECTION
00 1 00 @ 10+ 0.27 - 0.0 A-A B-B
(AT BOLT HOLES ) DRAWING NO
£x118-003/004/005
FLAMEPROOF PATH
REFER SECTION
A-AB-B
secrion A—A w05 secrion BB
| ] | | 1
FLAEROOF AT
1 SEALING RING (| L= 25“"(’ WHITE BAND - N14
|
FLAVEROOF PATH HANDLE LABEL POSITION
1= 9.00 %% BODY RED - RI3
RETAINING RING — N 1~ 6 HOLES PRODUCT DATA LABEL
M —J > RILLED B 4.2 X 1.3 EP Refar fo Extnh - co12
R Y EX1183 - BRASS MATERIAL - REF: DWG Ex118B-C008
EX1188SS - STAINLESS STEEL - REF: DWG Ex1188-C008
NN \>—é \ EX118BSSRF - 5/S REPLACEABLE FLANGE - REF: DHC Ex118B-C000
BODY/ENDCOVER BODY
13.3
BODY/ENDCOVER BODY .
20.30 290 O)
STAINLESS STEEL HANDLE LASER ETCHED AS LABEL
NOT_TO BE CHANGED WITHOUT SIMTARS APPROVAL
4 Tolerance Change 15/08/24 TOLERANCES O FASTENER SCHEDULE SEE DRAWING Ex118B - C008
3| wowTeD LgeL Extiscot2| 2001221 | UNLESS NOTED ON DIMENSION +-0.1 U S ROOF P'I'Y LTD O O RAWN_[ PHILIP MARKS [ cHeokeD
2 |UPDATED LABEL MARKINGS | 07/10/20 DATE | 14/03/13
1| AooeD MooeL 1oeNTIFICATION | 11/12/14 SCALE | DO NOT SCALE
e R BODY (CUSTOMER COPY) e I NTSLE —=— = [Ex118B - C001| =g |4




Ex

CEMENTED JOINT BETWEEN
HOUSING AND WINDOW

DOW CORNING SILASTIC 1080
SILICNE RTV ADHESIVE SEALANT

CLEAR/TRANSLUCENT

CEMENTED JOINT LENGTH = 10.0 MIN

FLAMEPROOF PATH
M25 * 1.5 BH THREAD

BODY —
3.00 WJ% .50
] T )
b INSULATIR
< 23.00 £2.00
NS !
T T
i )
v

U/ /L

/

COPPER BAND OR SEMI
CONDUCTIVE PAINT

LIVE LINE INDICATOR EX

HOUSING
MATERIAL BRASS

=

—

19.00 £2.00

$ .

FLAMEPROOF PATH
THREADED M25 X 1.5
69 THREAD

LIVE LINE BUNG

HOUSING
BRASS OR STAINLESS STEEL

N

h
19.00 £2.00

37

FLAMEPROOF PATH
THREADED M25 X 1.5
69 THREAD

NOTE

THE LIVE LINE BUNG IS TO BE USED

T0 BLANK OFF THE LIVE LINE INDICATOR
HOLES IN THE FLP BODY FOR CUSTOMERS THAT
DONT REQUIRE THE LIVE LINE INDICATORS

NOT TO BE CHANGED WITHOUT SIMTARS APPROVAL

JOINT LENGTH 20/11/24 TOLERANCES

N o>

MIN Dimension [18/11/24] UNLESS NOTED ON DIMENSION +-0.1 AUSPROOF PTY I-'l'D O
Tolarance Change [ 15/08/24 ( )

FASTENER SCHEDULE SEE DRAWING Ex118B - C008

DRAWN | PHILIP MARKS | cHECKED

DATE 14/03/13

— Wi LIVE LINE INDICATOR (CUSTOMER COPY)

DATE

SCALE | DO NOT SCALE DRAWING REVISION
NOTE COPYRIGHT RESERVED NO EXl 188 B COOZ NO 4




EX 6 HOLES DRILLED THRU
@ 10 +0.27 -0

SECTION A-A SECTION B-B

FLAMEPROOF PATH
REFER SECTION
A-A B-B

BODY ! HOUSING BODY

FLAMEPROOF PATH

L - 12.50 +8'OO
N\ 77 i
L
0 RING
SIZE 165 X 3
RETAINED DUE
TO GROOVE GAP = 0.4
DIMENSION

FLAMEPROOF PATH FLANGE

+2.00
11.00 "0 00—~

—

- - -

[ [ [

///

///

————

W

Vo
A
\
-

Tro——=

[ [

HOUS ING

FLAMEPROOF PATH
l =9+ -0.5

THREAD M40 X 1.5
69 THREAD

\ /
N ettt Y

ARMOURED CABLE COMPRESSION

CLAMP KIT TO SUIT CABLE
0.0. UNDER ARMOUR

RUBBER COMMPRESSTON

COMPRESSION WASHER 1D

RING
33 - 38— 30
38 - 43— 30
43 - 48— 30
48 - 53— /0
53 - 88— 70
58 - 63— 70
63 - 68— /0
68 - 73— 95
73 - 78— 95
78 - 83— 95
83 - 88— 95

Ex

NOTE

RUBBER COMPRESSION GLAND

TO BE TORQUED TGO 30 Nm

MIN THREAD ENGAGEMENT

+5.00
8.50 0

i

}
]

THREAD M40 X 1.5

6H THREAD

b
+5.00
8.50 "¢

HOUSING SECTION

NOTE: TO BE COMPOUND FILLED

NOT TO BE CHANGED WITHOUT SIMTARS APPROVAL

TOLERANCES

3 [MIN THREAD ENGAGEMENT| 201124 UNLESS NOTED ON DIMENSION +-0.1

2 |Length Change| 181124

AusPRooF PTY LTD OO0

FASTENER SCHEDULE SEE DRAWING Ex118B - C008

DRAWN

PHILIP MARKS

CHECKED

DATE

14/03/13

1 |Tolarance Change |[15/08/24

NO REVISIONS DATE

00 NOT SCALE

ARMOURED GLAND (CUSTOMER COPY )EE

COPYRIGHT RESERVED

"' |[Ex1188 - CO03

REVISION
NO




EX 6$OLES ORILLED THRU EX
10 =0.27 -0

FLAMEPROOF PATH FLANGE

11.00 00 — =
00 100 UNARMOURED_CABLE COMPRESS [ON
| CLAMP KIT 70 SUIT CABLE 0.D.
- RUBBER COMPRESS | ON
- ] COMPRESSION ~ WASHER 1D
_ 1 —— RING
FLAMEPROOF PATH 70 -75 - 80
REFER SECT[ON 5-80 - 80
A-A B -8B 80 - 85 -—--—- 95
85 - 90 -——-- 95
90 - 95 - 95
= 100~ 108 113
’— - 1}y ———
| 105 - 110 -——-- 113

NOTE
RUBBER COMPRESSION GLAND
TO BE TORQUED TO 30 Nm

7

L

SECTION A_A SECTION B_B
BODY HOUSING BODY HOUSING
I L
g
/
- THREAD M40 X 1.5 MIN THREAD ENGAGEMENT

55 !

}

S II l;(
FLAMEPROOF PATH \ '
L= 12.50 300 THREAD M40 X 1.5 8.50 *3:0
g 6H THREAD HOUSING SECTION

&

‘
FLAMEPROOF PATH
0 RING l =9+ -0.5
SIZE 165 X 3
RETAINED DUE
DINENS 10N NOTE' T0 B CONPOUND FILLED
GAP = 0.4

NOT TO BE CHANGED WITHOUT SIMTARS APPROVAL

TOLERANCES FASTENER SCHEDULE SEE DRAWING Ex118B - C008

O
3 | MIN THREAD ENGAGEMENT | 2011724 | UNLESS NOTED ON DIMENSION +-0.1 AU SPROOF PTY LTD O O DRAW | PHILIP MARKS [ CHECKED
2 Length Change | 18/11/24 DATE 14/03/13

Ll erance Shargqlo/08/04 PROCT | UNARMOURED GLAND ( CUSTOMER COPY ) e e e |Ex 118B - C004| =i | 3




Ex

Ex

: e
O
(/7]0.25
6.3 4.0 +g.oo
FLAMEPROOF PATH
— [ =20.5 f%?“
215.90 +20
FLAMEPROOF PATH 2
REFER SECTION
A-A B-B
A
O
FLAMEPROOF PATH\
+5.00 /
| = 48.00
B 0 B190.00 MaX /
8 HOLES ¢ 8.5 DRILLED 25 DEEP 4 MOUNTING HOLES @ 13.50 TQ 13.77
TAPPED M10 X 1.5 (6H) BY 22 DEEP FLANGE THICKNESS AT BOLT HOLES 19.0 +2.0 -1.0
section A=A section B—B
BODY ADAPTOR FLANGE BODY ADAPTOR FLANGE
FLAMEPROOF PATH
- +5.00
L=125")
i
! 8 HOLES @ 8.5 DRILLED 25 DEEP 1=9+-05
TAPPED M10 X 1.5 (6H) X 22 DEEP
0 RING R
SIVE 165 X 3 %
RETAINED DUE S
T0 GRODVE DIMENSION / A
GAP = 0.5 Flameproof Enclosure GAP = 0.4
Hount NOTE: TO BE COMPOUND FILLED

NOT_TO BE CHANGED WITHOUT SIMTARS APPROVAL

TOLERANCES FASTENER SCHEDULE SEE DRAWING Ex118B — C008

UNLESS NOTED ON DIMENSION +-0.1 AUSPROOF P'I'Y LTD O% mn I;’:I/[|63Iﬁlb34ARKS [ oHecken

B T ADAPTOR FLANGE (CUSTOMER COPY) e s " | Ex118B - C005 | =™ | 1

REVISIONS DATE




Ex

8 HOLES @ 11.00 +0.27 -0.0

EQUISPACED PCD
@ 225.2.40.4 -0.0

SECTION A_A

|

END COVER

——SEALING RING

RETAINING RING

7

\7

6 HOLES
ORILLED @ 4.2 X 13.3 DEEP
TAPPED M5 X 9 DEEP 6H

FLAMEPROOF PATH
REFER SECTIONS
A-A B-BOF

ORAWING Ex1188-C001 [
| L190.00+2.0-1.0
AT BOLT HOLES )

Ex

LABEL FIXING POSITION

LABEL B

PRODUCT DATA LABEL
REFER TO Ex118B-C012

NOT_TO BE CHANGED WITHOUT SIMTARS APPROVAL

Z Pinension Removed] 18/08/24 TOLERANCES @) FASTENER SCHEDULE SEE_DRAWING Ex118B — C008

3 |uPoNTeD LABEL Extige-coiz | 0707221 | UNLESS NOTED ON DIMENSION +-0.1 U SPROOF P'I'Y LTD OO RAWN_[ PHILIP_MARKS [ oHecke

2 |upoaTED LABEL Extige-co12 | 20/01/21 DATE 14/03/13

1 | UPDATED LABEL MARKINGS 07/10/20 SCALE [ DO NOT _SCALE

B T T INSULATED END COVER (CUSTOMER COPY) [ JIMITSAL 1w [ Ex118B - C006 | =™ |4




Ex

FASTENER SCHEDULE

4 x M10 x 65 SET SCREWS 6g (Class 8.8) ISO4017 & 4 x M10 NUTS 6H (Class 8) ISO4032
USE: TO BOLT TWO HALF COUPLERS OR COUPLER AND ADAPTOR TOGETHER
4 SUPPLIED WITH EACH HALF COUPLER MAKING UP 8 NEEDED

6 x M5 X 12 S/S SOCKET COUNTERSUNK HEAD SCREWS 6g 700Mpa 1SO10642
USE: TO RETAIN THE INSULATORS & INSULATOR PLUGS BY MEANS OF A
RETAINING RING INTO THE BODY & END COVER

1 xM10 x 25 SET SCREW 64 (Class 8.8) IS04017 & 1 x M10 NUT 6H (Class 8) 1ISO4032
1 x SIS M10 WASHER & 1 x S/S BELLEVILLE LOCK WASHER
USE: FOR EARTH STRAP ON BODY

4 xM10 X 16 BUTTON SOCKET HEAD CAP SCREWS 6g 700Mpa 1SO7380
USE: TO FIX 2 HANDLE AND HANDLE LABEL TO THE BODY

3 x M8 x 25 S/S GRUB SCREWS 6g 700Mpa 1SO4029 & 3 x M8 NUTS 6H 700Mpa 1SO4032
3 x M8 S/S BELLEVILLE LOCK WASHER
USE: FOR EARTH STUDS ON BODY INTERNAL

6 x M10 x 35 SET SCREW 69 (Class 8.8) 1ISO4017 & 6 x M10 NUTS 6H (Class 8) 1ISO4032
USE: TO BOLT ALL GLAND HOUSINGS TO COUPLER BODY

2xM12 x 80 SET SCREWS 6g (Class 8.8) ISO4017, 6 x M12 NUTS 6H (Class 8) 1ISO4032
6 X M12 B/S Z/P WASHERS
USE: TO BOLT THE CABLE CLAMPING TO HOUSING

1 x M8 x 20 SET SCREW 69 (Class 8.8) 1ISO4017 & 1 x M8 NUT 6H (Class 8) 1ISO4032
1 X S/S BELLEVILLE LOCK WASHER
USE: TO CLAMP EARTH STRAP

6 x M10 x 30 S/S SOCKET HEAD CAP SCREWS 6g 700Mpa 1SO4762
USE: TO BOLT ADAPTOR FLANGE TO COUPLER BODY

2xM10 x 25 S/S GRUB SCREW 6g 700Mpa 1S04029 & 2 x M10 NUTS 6H 700Mpa 1SO4032
2 x M10 BELLEVILLE LOCK WASHER
USE: EARTH STUD ON ADAPTOR FLANGE

1 x M8 x 20 S/S SOCKET HEAD CAP SCREW 6g 700MPa 1SO4762
1 x M8 NUT 6H 700MPa 1ISO4032 & 1 X M8 BELLEVILLE LOCK WASHER
USE: EARTH STUD ON ADAPTOR FLANGE CAP

1 x 16mm NYLON CABLE GLAND
USE: FOR PILOT CABLE ON ADAPTOR FLANGE CAP

3 x CONSTANT FORCE SPRING
1 x FLEXIBLE EARTH STRAP
USE: TO EARTH CABLE SEMICONDUCTOR SHEATH

1 x RIGHT ANGLE BRASS EARTH LINK
USE: TO EARTH ADAPTOR FLANGE TO COUPLER BODY

6 x M8 x 8 GRUB SCREWS 6g 240MPa (MIN) 1SO4029
USE: FOR SOLDERED CONTACT TO POSITION CABLE
CONDUCTOR BEFORE SOLDERING

3 x MOULDED NYLON CIRCLIP
USE: FOR CRIMP & SOLDERED CONTACT

FASTENER SCHEDULE

USE: TO BOLT REPLACEABLE FLANGE TO COUPLER BODY

4 x M12 x 55 (MIN) Z/P SET SCREW 6g (Class 4.6) 1S04017,
4xM12x 1.75 ZJP NUTS 6H (Class 8) 1S04032,
8 x M12 Z/P (Class 8) WASHER
OPTIONAL M12 x 1.75 HARDWARE MAY BE USED MUST HAVE A
MINIMUM YIELD STRESS OF 240MPa
USE: TO FIX ADAPTOR TO ENCLOSURE

FIXING ADAPTOR TO Ex d ENCLOSURE: PROPERTY CLASS > 4.6
*NOTE: SPECIFIED FASTENER PROPERTY CLASS TO BE > THE FASTENER
PROPERTY CLASS SPECIFIED FOR THE Ex ENCLOSURE.

4 x M6 x 16 SOCKET COUNTERSUNK HEAD SCREW 69 (Class 8.8) 1ISO10642

Ex

NOT TO BE CHANGED WITHOUT SIMTARS APPROVAL

TOLERANCES

UNLESS NOTED ON DIMENSION 0.1

DRAWN

CLINTON TAYLOR

AUSPROOF PTY LTD OO

DATE 15/8/2020
6 I[ECEx update 5/8/2020 PRODUCT SCALE |DO NOT SCALE DRAWING REVISION
NO REVISIONS DATE NAME FASTENER (CUSTOMER COPY) NOTE JCOPYRIGHT RESERVED NO EX118B — COO8 NO 6




Ex

Flameproof Path
Refer Section

A-A B-B C-C

Retaining Ring

19.00 * 20 (AT BOLT HOLES)

10.0£0.15

@amr

@269.0 "

8 HOLES @11.0 +0.27 -0.0
EQUISPACED PCD 225.2 +0.4 -0.0

FOR FURTHER DETAILS REFER TO Ex118B - COR

Ex

1100 * 20 (AT BOLT HOLES)

[

7\ 7N\

©

)

Flame Proof Body Flange

Replaceable Flame Proof Flange/

i=05

Quad Sealing Ring\_

Replaceable Flame—/

Proof Flange

\Flame Proof Body Flange

= A
—é § Z\/ Retaining Ring
Quad Sealing Ring—f—_| 7§ Quad Sealing Ring / K_l
\

Z § S

/ \

Z §

FLAMEPROOF PATH
FLAMEPROOF PATH L = 9.00 jgg ] )
L = 25.00 259 o '
Sl Flame Proof Body Flange Replaceable Flame
Replaceable Flame SECTION A-A 10.0+ 0.15 . 0Eroof Flange
Proof Flange - i = 0.
REPLACEABLE FLANGE NOT SECTION B-B

-

Retaining Ring

T

\

SECTION C-C

METHOD OF RETENTION
FOR FACE SEALING RING

INTENDED FOR REPAIR NOT TO BE CHANGED WITHOUT SIMTARS APPROVAL
TOLERANCES O FASTENER SCHEDULE SEE DRAWING Ex118B - C008
3 MAX Gap Added |18/11/2024 JUNLESS NOTED ON DIMENSION +0.1 A P Q DRAWN JANDREW CASTLE
2 Flange Tolerance |14/8/2024 U S R O O F P T Y L T D O DATE |14/05/2020
1 Original 30/7/2020 PRODUCT SCALE |DO NOT SCALE DRAWING REVISION
NO REVISIONS DATE nave  BODY WITH REPLACEABLE FLANGE (CUSTOMER COPY) NOTE |COPYRIGHT RESERVED NO EX11SB - EOOg NO 3




Ex

REPLACEABLE FLAME PROOF

@194.50

REPLACEABLE FLAME PROOF

6.3 @19L.3

FLAMEPROOF BODY FRONT VIEW

FLANGE SIDE VIEW

FLANGE FRONT VIEW

2.00

Ex

-

2

N

T~
0,10
©

M6 x 1.5 THRU

TYP & PLACES

FLAMEPROOF BODY SIDE VIEW

fa

NOT TO BE CHANGED WITHOUT SIMTARS APPROVAL

TOLERANCES

UNLESS NOTED ON DIMENSION 0.1

AUSPROOF PTY LTD OO

FASTENER SCHEDULE SEE DRAWING Ex118B - C008

DRAWN

CLINTON TAYLOR |

DATE 130/07/2020
1 Original 30/07/2020 PRODUCT SCALE [DO NOT SCALE DRAWING REVISION
NO REVISIONS DATE NAME BODY WITH REPLACEABLE FLANGE (CUSTOMER COPY) NOTE JCOPYRIGHT RESERVED NO EX118B — CO1O NO 1




Ex Ex
LIVE LINE INDICATOR
REPAIR BY REPLACEMENT ONLY
CEMENTED JOINT BETWEEN
HOUSING AND WINDOW
DOW CORNING SILASTIC 1080
SILICNE RTV ADHESIVE SEALANT
CLEAR/TRANSLUCENT
HOUSING
CEMENTED JOINT LENGTH 210.0 MIN
19,004 2.00 MATERIAL BRASS
FLAMEPROOF PATH
THREADED M25 x 15
6g THREAD
SECTION A-A
ASSEMBLED VIEW TOP VIEW
NOT TO BE CHANGED WITHOUT SIMTARS APPROVAL
L JOINT LENGTH  [20/11/2024 TOLERANCES O MATERIAL AND FASTENER SCHEDULE SEE DRAWING Ex118B - 008
3 |THREAD TOLERANCE[14/08/2024 UNLESS NOTED ON DIMENSION 0.1 A US P ROOF PTY LTD Q DRAWN [ ANDREW CASTLE |
2 REPAIR NOTE | 5/%/2020 O DATE |14/05/2020
1 ORIGINAL 14/5/2020 PRODUCT SCALE | DO NOT SCALE DRAWING REVISION
NO REVISIONS DATE NAME LED LIVE LINE INDICATOR (CUSTOMER COPY) NOTE |COPYRIGHT RESERVED NO EX118B - CO“ NO




Ex

LABLE A
PRODUCT LABEL FOR BODY

o D EX1188 -11kV 800A - Ex db I Mb TYPE A

AISPROOFO O Cot No ANZEx 13.2007  SERIAL No
CoC No IECEx SIM 20.0008X

WARNING - TO BE COMPOUND FILLED - DO NOT SEPARATE WHEN ENERGIZED

LABEL B
PRODUCT LABEL FOR INSULATED END COVER

° AUSPrOOF ¢l ©

[D: Exl118B

11kV 800A Ex db I Mb TYPE A
CoC No  ANZEx 13.2007X

CoC No IECEx SIM 20.0008X

SERTAL No

WARNING
DO NOT SEPARATE
WHEN ENERGIZED o

®)

NOT TO BE CHANGED WITHOUT SIMTARES APPROVAL
MATERIAL AND FASTENER SCHEDULE SEE DRAWING Ex1188 — 010

TOLERANCES O
UNLESS NOTED ON DIMENSION +-0.1 AU SPROOF PTY LTD OO mn gg/[l(_)lll/DZ?ARKs [ oiecken

Deleted Dimensions/Names 18/08/24
ST T TS PRODUCT MARKING LABELS (CUSTOMER COPY ) fa OIS 1t wue | Ex 1188 - €012 | =g | 2




